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Subtraction (Word Problems)

Q1. Dia has 8 balloons and Ria has 5 balloons. How many more balloons does
Dia have than Ria?

Solution:

Q2. Timmy has 6 stamps. Jimmy takes 4 stamps. How many stamps does
Timmy have now?

Solution:

Q3. There are 8 candles in a box. Tia takes 4 candles. How many are left?

Solution:

Q4. Ravi has 7 marbles. He gave 2 to his friend. How many marbles does he
have left?

Solution:
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Subtraction (Word Problems)

Q1. Dia has 8 balloons and Ria has 5 balloons. How many more balloons does
Dia have than Ria?

Solution:

8 |14
-5 ya721

Q2. Timmy has 6 stamps. Jimmy takes 4 stamps. How many stamps does
Timmy have now?

Solution:

6 | 14
- 4 A1t

Q3. There are 8 candles in a box. Tia takes 4 candles. How many are left?

Solution:
8 111
- 4 Axrx
4

Q4. Ravi has 7 marbles. He gave 2 to his friend. How many marbles does he
have left?

Solution:
7 111
- 2 P73
5
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